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Understanding Ratio Concepts

» Complete each problem about ratio relationships.

o Ms. Omar runs the school tennis club. She has a bin of tennis balls and rackets.
For every 5 tennis balls in the bin, there are 3 tennis rackets. Draw a model to
show the ratio of tennis balls to tennis rackets.

Write the following ratios.

tennis balls to tennis rackets

tennis balls to total pieces of tennis equipment

Q Christian has a collection of 18 shark teeth. He identified them as 6 tiger shark
teeth, 8 sand shark teeth, and the rest as bull shark teeth.

What does the ratio 6 : 8 represent in this situation?

What does the ratio 4 : 18 represent in this situation? Explain your reasoning.
Include a model in your explanation.

e How are part-to-part ratios different from part-to-whole ratios?
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Using Equivalent Ratios

» Solve each problem.

a Josie is training for a race. The ratio of a A chef planning for a large banquet

the number of minutes she runs to the
number of miles she runs is 24 to 3.
She plans to run 10 miles. How many
minutes will it take her?

Fred is making a fruit salad. The ratio
of cups of peaches to cups of cherries
is 2 to 3. How many cups of peaches
will Fred need to make 60 cups of
fruit salad?

thinks that 2 out of every 5 dinner
guests will order his soup appetizer.
He expects 800 guests at the banquet.
Use equivalent ratios to estimate how
many cups of soup he should prepare.

A community garden center hosts a
plant giveaway every spring to help
community members start their
gardens. Last year, the giveaway
supported 50 families by giving away
150 plants. Based on this ratio, how
many plants will the center give away

this year in order to support 65 families?

9 The first week of January, there are G A wedding planner uses 72 ivy stems
49 dogs and 28 cats in an animal shelter. for 18 centerpieces. When she arrives
Throughout the month, the ratio of dogs at the venue, she realizes she will only
to cats remains the same. The last week need 16 centerpieces. How many ivy
of January, there are 20 cats in the stems should she use so that the ratio
shelter. How many dogs are there? of ivy stems to centerpieces stays

the same?




Understanding Rate Concepts

0 It takes Maya 30 minutes to solve 5 logic puzzles, and it takes Amy 28 minutes to
solve 4 logic puzzles. Use models to show the rate at which each student solves
the puzzles, in minutes per puzzle.

If Maya and Amy had the same number of puzzles to solve, who would finish
first? Explain.

9 A garden hose supplies 36 gallons of water in 3 minutes. Use a table of equivalent
ratios to show the garden hose’s water flow in gallons per minute and minutes
per gallon.

How many gallons of water does the hose supply in 10 minutes? Explain.



Understanding Rate Concepts continued

e Max travels to see his brother’s family by car. He drives 216 miles in 4 hours.
What is his rate in miles per hour? Use a double number line to show your work.

Suppose he makes two stops of 10 minutes each during his journey. Will he be
able to reach the town in 4 hours if he keeps the speed the same?



